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General Instuctions:
()  Answerall the questions. Mar re Mdicated against each question.

(i)  Answers to questions cafryi s should not exce8d words each.
(i)  Answers to questionsf{car arks should not exce&@0words each.
(iv) Answers to questi iBgmarks should not exce280words each.
(v) Attach the ma tRe answer scripts.
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(vi) Stencils or te te§ for drawing outline maps may be used wherever necessary.
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1. Explain one main consequence of the Battle of Buxar (1764) on the Mughals in India.

JFR B @ele (1764) § 9RT § Tal W T2 Uh W@ TROMH Sl ATAT HiTT |

61/1 1

P.T.O.



2. Explain any one reason for the Partition of Bengal in 1905. 2

1905 ® ST % [I9S &7 &I Teh HROT TR T |

3. Whatis meant by ‘equality before law’ as enshrined in the Indian Constitution ? 2

IR dfaeg™ 7 gfasifud ‘S & a9e FEEar T B R 9 8

4. In what way did the attitude of racial superiority of the British contribute to the Revolt
of 1857 ? Mention any three other causes of the Revolt.

OR
Who were the Sepoys during the Company’s rule ? What were the mai of their
revoltin 1857 ? +3=5
1857 & fagie ¥ SfUS & S Feadl & 3o o fhd JhR Q%
fohel M 3 HRON H Swi@ BT |
AT *
FUAT MEA & SR R B &7 1857 # 3% [98® & g7
5. Explain three main features ofthe Councils Actfof 1861. State whether the Act
represented the Indian opinion or not. Give two pQj 3+2=5
OR
Why was the Treaty of Yandabo signed ? thrée main provisions of the treaty.2+3=5
1861 @& oA A (FERI Gall fagroaret ® ArEr #ivg |
iy fo = g srfeEg qraE AT A1 A1 RN | & faeg i |
JarEr @ A W Rl e afer & o9 99 JrEYHEl Bl e Hifd |
6. When and by whom wa hmo Sabha founded ? Explain any three ideas of the
Sabha. 2+3=5
OR
When and byWwhom was the Theosophical Society started in India ? Explain three
main objecti e Society. 2+3=5

w9 AR frae a0 TS 3@ AW & (el AN faEnl @ e

SEEIE

HIEEL & T F AR fhEeh a1/ & T2 AR & dF T
T AT HINT |
7. Critically examine the reasons for the change in the British attitude towards India

after the Second World War. Explain two main developments which reflected this
attitude. thatitis neither a king nor a heart. 3+2=5

fada faga g8 & @€ IR & 9fd 3% & WA H oMU uREdd & wRON @l
TS GHIET HINTT | THT S T HeABhAl &l AT &ty =8 a8 aar
HeThal B |
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8. Analyse the developments which led to the passing of the ‘Purna Swaraj’ resolution by
the Congress. S
I HEAERHI B [T HINTT S RIUH ERT QU0 @RS BT J&T G & Rl R
EEll

9. When was the French East India Company founded ? Describe its relations with
Karnataka and Hyderabad. Mention any three reasons which prevented its in
India.

OR

Briefly describe the main features of the British economic policy in | @ rfg the
Company'’s rule. When and after which specific development di Cempany’s rule
cometoanend? 5+1+2=8

TIE &l & (AT HUAT Bl UAT FF &7 FACH ST Laddl 5 & qaui &
O HIT | IRT F THeT [ Sfasg we A foheel de Swid I |

rgar
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9 AR fopa fafore geampa & a1 A 9 g7
10. Explain the growth of communalism in | g the first half of the 20th century and

examine the efforts of the nationalist ent¥o check it. 6+2=8

Explain the contribution of t e@very of India’s Past’ to the rise of nationalism in
the late 19th century. Examifie a e shortcoming of such a rediscovery of the p&st2=8

H egarE & A H URA h AT Dl G @IS Rl YHBT hl AT
THT 9 @Il fhdl T HAS bl GHIET B |
y whom was the Champaran Satyagraha launched ? Explain where did

initially evolve the principle of Satyagraha. Mention two achievements of the
paran Satyagraha. 2+4+2=8

OR
Read the following passage carefully and answer the questions that follow :

11.

“.... the immediate ending of British rule in India is an urgent necessity,
both for the sake of India and for the success of the cause of United Nations .... India,
the classic land of modern imperialism, has become the crux of the question, for by the
freedom of India, will Britain and United Nations be judged, and the people of Asia
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and Africa be filled with hope and enthusiasm. The ending of British rule in this
country is thus a vital and immediate issue on which depends the future of the war
and the success of freedom and democracy.”

() Mention the context in which this resolution was passed.

@ In what way would the ending of British rule in India further the cause of United
Nations ?

(i) Explain how Britain could be judged by giving freedom to India, as st th
resolution. +3+3=8
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utline map ahdia (on page 9) mark and name the following centres
m movement : 5

12. Ont

Champaran
(12.4) Dandi
(12.5) Nagpur

OR

On the political outline map dhdia (on page 9) mark the extent of British empire in
1805, with any two of its important centres.
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HRA & IoHIas @HAERE (I8 9 W) W Edsdr g & Mfarad sl &l
3ifehd R T A o fafayg -

(12.1) @@
(12.2) ¥
(12.3) FUROT
(12.4) =iy
(12.5) AR
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o4

HRA & eI @A (I8 9 W) W 1805 # fafesr qmma &
A FedYol deal died Afhd HY S AW fofEy |

4
Note : The following question is only for the Blind Candi indleu of Q. No. 12.
Jie - fr=tafed g97 dawa G faanEr & fag 3. 9.02 & el
Mention any five important centres of the freedo ntin India.

OR

expand the British power in India.

& A fafaa )

IRA § SUST & SAfeeRr J 7S Feiefal BRT AT MY b A It

I |
@EMPORARY WORLD HISTORY

o @ faga sfoera

13. Give t plés to show how Germany had been humiliated at the Paris Peace
2

garzu ok 9Re onfa a9 § 99 & fohg yehr stamifea feRar wram e

was referred to as the *Vichy France’ during the Second World War ?

I g8 & a0 ‘o= Wi fRd et S or ¢

15. Mention any two leading nations of the Non-Aligned Movement. Mention the
Super-power which was supportive of the NAM during the Cold War period.

Te-FRUS SiElad & fheel & Sl U % 9 fdf@w | 3" weeih #r A i
fafqe e fid g8 ®@ # I8 ofidew & g9 fhar an)
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16. Mention any two significant findings of the Biological Sciences in the 19th century.

OR
Who was the first Asian to get the Nobel Prize in Literature ? Mention any one of his
major works. 2
IEEaEl Al § g R b & @ bl & Aewyel Sudiedl H Swid iy |

A9
Hifer & o7 ST qREPR U B AT Yeel UIETE B AT SEHl UG Hiodl e d

fordt w1 A fofag )

17. Who was Dostoevsky ? Mention any one of his major works.
OR
Mention any two diseases which could be controlled i
R BE GT? IR T[@ Fioai § F Bl T @
AT
feedl 41 OF A B @ BT B W o g

Cqptemporary period.

T B

18. Mention two main features of the Second Ind% lution.

O
Mention any distinct feature of thg Befygal School of Art. Mention any one main

propounder of this school.
facdrr sireifes wifer a1 < %ﬁ H T |

Agar
HAT BN M Al fIquer &1 SR Hw | 39 A & AT U 9@
JEARdT B off
L 4
19. t the world got integrated in the Contemporary period ? Explain two
support of this argument. 3+2=5
OR

hree main causes for the rise of the USA as an industrial power in the last
ter of the 19 century. Give two examples to show this rise.

T i far S § 6 syt g 9 fasa uwihd e T 87 I a% & aHed |
HSABRA] I T HITTT |

AAqT

SHEd ' & offaw aqufyr (ARe @@ry) § 99% T SMRET & Uh SAEih Qe
% BT H I & A GIE BRI B WL HIWT | TH IAW Hl &h B & (@0 &
BT T |
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20. Why was the Munich Pact signed ? Explain three main consequences of the Pact. 2+3=5
OR

Explain three main features of the Nationalist Movement in Egypt dieng
inter-World War period. Examine the attitude of the king towards the movement.  3+2=5

Mg T W FT e B T2 39 q9Ed & i 9@ IRl & AT B |
Jrgar

T 99 g5l & 4/ & B § HE & Tegard] Al bl d Iq@ faeioarst s

IV | 3F &S & Ui TS & GIehoT I FHIET BT | Q

21. Explain three main consequences of the Vietnham War. Mentio o]
directly involved in the war.

Ww%ﬁm@ﬁﬁwﬁﬁmwg&ﬁw@%w@ﬁﬁ%&ﬁ

gn powers
3+2=5

kAl & AW fofeEy |
22. When did the Second World War really become a@ war’ ? Explain any three
I

incidents which made it so. Explain the impact war on Nazi Germany and
its allies. 1+3+4=8

What was referred to as the USSR in €o rary history ? Explain its significance
during the Post-World War period. id the USSR disintegrate ? 2+5+1=8

THE Sfer § .. (USSR)fRd e wirar &2 faea g8 & I &
wA W Eh aiw HIT | FUATEAR. F [HeT & g

23. On the line map dAsia (on page 11), mark and name one colony of the

ch of Britain and France in 1914. 5
OR

1

& TSI ET-AMEE (I8 11 W) W 1914 § TF 39 Suider adm foed ofiX wi|
& a-al IUWAST I 3fhd FX Ih T i |

SEEIE

JABYHT & TSGR @-AERE (I8 12 W) 1960 § Ta=ar o ard fobeel di o qar
1961 § AT T aTel foheel a&f a9l &l 3ifhd X S AW faiay |
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Note : The following question is only for the Blind Candidates in lieu of Q. No. 23.

Jie : fReffaa 997 #aa 78T el & fag 9. @ 23 & &9 w7 &

Mention any one Dutch Colony, two colonies of Britain and two of France in Asia in
1914.

OR
Mention three countries which achieved independence in 1960 and two countgies w
achieved independence in 1961 in Africa.

@Rﬂﬁ1914ﬁ@@awﬁ%sTamiﬁé?aﬁTm%ﬁ-€rwﬁ%mﬁ%?ﬂ®|

Fgar
1960 B TASAT U aTel i SThIehl <9t aem 1961ﬁ@ﬁﬂﬁ3ﬁ€&%ﬁﬁ%

am e @0
@0

(%
?J+

61/1 8
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For question no. 23 Yy §. 23 & faq
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T3 §. 23 & fau (Feam)

For question no. 23 (OR)
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